FEPH? =1, 0%+ (y-3)? =4 o] FEHAL GGl y = mxtn
A, m?+n® o F2AE m#0)

@® 15 @ 16 ® 17 @ 18 ® 19



2. FEFA ol H 0(0, 0), A(a, b), B(2,-1) ©]
Va2 + b2+ /(a-2)2 + (b+1)2 o HEFS F

o, ol
b2

30

ol

@ 1 @ 2 ® V5 @ 3 ® V10



A3} go] A A Yo g APttt st [©)
= 9lo] F471 9] A el 2em 2 &

), ¥h20] o7} 1em ¢ ¥ WA} B 2em/sec
ZZ ot vhx| 0] Zo] 4em 91 ¢ ool ] E7|A] Hi=s})

HE2]52] doj7t 1em Q1 Yol ¥H2 52| 4
°]7}4em Q1 ¥o] & 2em O £ =& 1 lcm

D1z ® V2= ® V3%
@ 2x ® iz



@ ax+pBy=1 ® Bx+ay=d>

D ax+pBy=d>

® Bx—ay = a?

@ px+ay=1



FHE @+’ +y? =1, 4+y*—6x-6y+2 =09 F5HAH

@ 074 @ 174 @ 270 @ 37 ® 47



6. WA X2 +)?+4x-6y+k+10=0°] 9 YW EE sh= A4
k o] gte] M el=?

@ k<3 @ k>3 @ 0<k<3

@ k>2 ® k<2



7. AEx, y7b(x-3)2+(y-2)2 =125 o, x2 +y? o] M-S
a,HxFE b S, a+bE FoHH?

@D 27 @ 2vV13 @ 2V1T @ 16 ® 28



Aol Al A A(-1,0), B(2,0), C(1,3)°] 2tk aABC 9
] P7} aABPC = AAPC + AAPB Sl #A S THEA]7| A A
A P7t d8ls =yo] Zol=?

)

V1o @ V2 ® 2 @ 10 ® 242



S2REES

2 2x% - 3xy+ay? —2x+9y+b =09]

ki

17}

5

x,yoll &

9.

@ 4 ® 6 @ 8 ® 10

O 2



0 o Yk, 24

10. A y=mx+nm#0) =& ax+by+c=
pxtaytr=00] FoITh 0L F $& AL BT FoHE?

@ a+bm=0 © pt+tgn=0 ® ap+bg=0

ORQ) @ © ONGNG)
@ 9,0 ® 9,06



, ]
11 A A8 Ly = —Sxtdomix29-2 = 0,05 2x-y+4 =0 o g

nE =19

ftlo

m
e <H7]> o Y F g2 2

® & @ ® ® Q9,0
@ ©,©® ® Q.60



